DAYV SR. SEC. PUBLIC SCHOOL, JHINGURDAH PROJECT NCL

ASSIGNMENT FOR SUMMER HOLIDAY

SUB. ENGLISH CLASS: IX

Task.1. Prepare a flow chart of chapter no. 1 ‘How I Taught My Grandmother to Read’
Task.2. Prepare a flow chart of chapter; ‘The Brook’
Task.3. Write a letter to the editor on: Increasing number of road accidents due to stray animals.
Task.4. Write a diary entry on daily basis, covering the day’s events.
Task.5. Write an article on; Grandparents are the Heart and Soul of a Family.
Task.6. Read any book of your choice and write its review.
Task.7. Access the link to study grammatical rules for accuracy and attempt all the exercises related to Tenses and Parts
of Speech.
https://drive.google.com/file/d/1 7TKtHL HPfYKEjkIGs2BKVMh41zgttWCZ/view?usp=drivesdk
Task.8. Visit to an Old Age Home if possible, or interview some elderly neighbours — Take interviews and present it
through a PPT( based on the theme of ‘How I Taught MY Grandmother To Read”)
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DAYV Public School, JhingurdahProject ( NCL)

Session: 204-25
Class: ...IX...... , Subject:......... Social Science...

HOLIDAY HOMEWORK

Section A( Short Answer type questions
1-Describe the events that took place on 14 thJuly,1789 in France.
2-Which three causes led to the ¢ Subsistence Crisis ¢ in France during the Old regime?
3- The central location of India at the head of Indian Ocean is considered of great significance.Why ?
4-Whay do you know about India and her neighbours?
5-Describe the three features of small scale manufacturing aa non farming activity in Palampur.
6- Give three reasons why small farmers have to arrange capital by borrowing.
7- What do you understand by the “ broader meaning of democracy “? Explain in brief.
8-How does democracy improve the quality of decision -making ?
Long Answer type questions

1- What steps were taken by Robert Mugabe in Zimbabwe to remain in power?

2- Compare the features of democratic and non — democratic country.

3- What is the main aim of production? State any four requirements for production.

4- Explain two merits and three demerits of Green Revolution.

5- Describe the location of India on the world map.

6- Why are Ahmedabad and Kolkata able to see the noon sun exactly overhead twice a year but

not Delhi.

7- Discuss the main causes of the French Revolution.

8- Explain the “ Reign of Terror “ in brief.

9- On the given outline map of India do the following map activity.

a- Labelling neighbouring countries with different colours.,Tropic of Cancer, Standard
meridian with degrees.
b- Show on the same outline map the latitudinal and longitudinal extent

c- Mention name of states and union Territories with their capital.
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